—

\ s\l Perpevw(\'u«/(!\f

i e cpor
5) .

W ois am bisechac
WV is NU\L <

\ Jy %2 - X+ 19 45\;‘[:&[2{1)

Y
£sVT> Ix=b  7y- 2 (2x+9)

S 3x22 b= Ux+I8
= 2 Sy

L)_&_:é. 5x,L$ 18

< ¥ +b
b} Z‘-lt 7X”)
T x22 GX +13




b sides

®) ?ua\\m\ - Pv;'r
Fes / ‘ \ Ao
0 osrlt { \/ \
kit

$A3¢M+ LWLjV'V&'\:&
gilLS %W"I

aralle | sgroms
oppoSit srdes ‘} les Cwﬂf"‘"‘t-

4 egual Mjlbs ‘hgwl sidec
aeo‘bmj le- Rh by
AN /




PAmlbLle rami

Aue,rvukjfe Tnlerior
A’y\ﬂ\a.s
XABEZFCDE
A BpE T ¥ DCE

verk cal A"\j s ©

XAEB T XCED




a=0T7 Al Tt A’ijr

L1+ S8 +l8x+([ =150

|2, +(8x =80
~ (26 — |26

2L >0
2 -

A\kwi'b j:wlriricf
A’v:«)ko.ﬁ
Ix 3+ T -2+ 98=180

STRAL 4y 496 =186
-9 —%

!X»LZ 1% = &f
< 17







